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Bl%tructions to candidates
\N

(@) Write your name and index number in the spaces provided above.

(b) Sign and write the date of the examination in the spaces provided above.
(¢) This paper consists of two sections; A and B.

(d) Answer all the questions in section A in the spaces provided.
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(¢) Insection B answer question 6 (compulsory) and either question 7 or 8 in the spaces provided

after question 8.
(/) This paper consists of 12 printed pages.

(g) Candidates should check the question paper to ascertain that all the pages are printed as

indicated and that no questions are missing.
(h) Candidates should answer the questions in English.

For Examiner’s Use Only

Section Chiesiion Maximum Candidate’s
Score Score
1 8
2 8
A 3 8
4 8
5 3
0 20
B

' 20
ﬁ Total Score 80
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SECTION A (40 marks)
(3

Answer all the (}M&ES@QI}S in this section in the spaces provided
<
Q
1 (a)  The diagram below represents a plant in the division Bryophyta.

AN
N (i)  Name the parts labelled B and D.
¥ B i hiismesmionsscrasmemeeeecemtonmss

(i)  State one function for each of the parts labelled A and C.

..........................................................................................................

(b)  The diagram below represents a member of the kingdom Animalia.

(1) Name the phylum to which the organism belongs.

913037

(2 marks)

(2 marks)

.........................

(1 mark)

91
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(i)  Using observable feagbrcs in the diagram, give three reasons for the answer in
b(i). 066
"
@
‘..”...§.&......-
6\
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2 The dgggm below represents the human ear.
Q
Q,Q External
‘k—@ auditory meatus
<
&°
<
s) \
\Y
..<<°&
S)
(a)  Name the parts labelled E, F and G.
(b)  How is each of the following adapted to its function?
(1) External auditory meatus;
) 23 crs
(11)  Ear ossicles.
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(¢)  Name one defect of the huméa}@ear. (1 mark)
&
....................... r
......................... QAR ba i cn o semm s b ek SRS SRR meme e peaS e S sy
&&

)
(i) ugh%\;

X
Q@%i) carbon(IV) oxide;
<

&

..............................................................................................................................................

2
@ e
<& (iif)  chlorophyll.
@
B oot ——— .
&
(b)  Name one appropriate food substance for each of the following enzymes: (2 marks)
(i) 20 L
(i) pepsin...ceceeeeeeee
(c)  State the cause and two symptoms of Beri-beri.
Lause (1 mark)
Symptoms (2 marks)
(@)
(i)
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\ 4 In an investigation, a varicty of pcg@ants grown from seeds with smooth coats were crossed

k) with plants grown from seeds with wrinkled coats. All the seeds obtained in the first filial (F))

generation had smooth seed %ﬁ‘fs.

\\
(a) Using the letter RO represent the gene for smooth seed coat, work out the genotype of
the F, generafjon. Show your working. (3 marks)
ks) o
R\
e‘e
e
B
2
A3 S 8 N B A T R B R S AT R o3
<
&
o
&°
§0\ N i - A e B B A i
< (b)  Ifthe F| generation was sclfed, determine the phenotypic ratio of the second filial (F,)

<O generation. Show your working. (3 marks)
s)
) oo
L ———

(c)  Ifthe total number of seeds in the F, generation was 14 640, calculate the number of
seeds with wrinkled coats. Show your working. (2 marks)
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— Acetabulum

Obturator foramen

How are the structures labelled H and J adapted to their function?

(1) H (2 marks)
(i) J (2 marks)
(b)  State the function of obturator foramen. (1 mark)
) Name the bone that articulates with the pelvic girdle at acetabulum. (1 mark)
(i) Name the type of joint formed by the acetabulum and the bone named in (e)(1)
above. (1 mark)
(d)  Name the bone formed by the fusion of caudal vertebrae in human beings. (1 mark)
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Answer question 6 (compulsory) aqdzés' ther question 7 or 8 in the spaces provided after question 8.
\
6 A scientist carried out ang?ﬁ’esti gation to find out the population growth of mice under

Jaboratory conditions, ¥wenty young mice were placed in a cage. The results obtained from the
investigation were steshown in the table below.

Time in mogfs 0 2 4 6 | 7 10 | 12 | 16 18
Number\o}zmice 20 20 65 115 310 | 455 | 450 145 | 160
%_‘7 e
(a().—?@ On the grid provided, draw a graph of the number of mice against time. (6 marks)
N
Q - Hree
‘«Q’ iy ? S Emans R
@ ! ;
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(b)  Account for the changes in 111ic(e&cpo%ulation between
Q
2
(i)  0to 2 months R G
"
@
............................ § ‘\
R T 00 b s m a4 SOG4SO 45 o emmm s s nssmene s b em et sssns
6\
R\
............... gy e et e e h ks ae st sme e e s e s se e en s s
&
(i1) Q‘ZrQ). to 6 months
X
%9
Q ..........................................................................................................
@‘o
N OSSRy v s PSSR e ceeeeeeee
&
<<\
&
< (i1i) 6 to 10 months
QO
!
(iv) 10 to 12imonths.
(Y Between which two months was the population change greatest?
pop g
(i)  Calculate the rate of population change over the period in (c)(i) above. (2 marks)
913037
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(d)  What change in population wo%l@ge expected if the investigation was continued to the
19th month? \l-(’%' (1 mark)

(e)  To obtain the obsgrved results state two variables that were kept constant during the

..... investigationx\@ {2 marks)
=)
........................... Q@&;.
ks) X, ¢
%-GD
Q
@‘o
7 @)E' Describe the process of blood clotting in human beings. (10 marks)
<
AN
Q,(( (b)  How are respiratory surfaces in mammals adapted to their functions? (10 marks)
N
@ .
0\
ST Describe the role of the following organs in excretion and homeostasis.
(a)  theliver ' (10 marks)
(b)  the skin during hot environmental conditions. (10 marks)
s)
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